Area within Triangles

Name:

Class:

Find the area of the shaded parts.

ABCD is a rectangle.

D E C
6cm
A 14 cm B

Shaded area:

EFGH is a rectangle. GB = 4 cm

E 12cm =
5cm
G B H

Shaded area:

ABC is a triangle.

A 5cm B

Shaded area:

copyright:

KLN is a right-angles triangle.

L

8cm

M

7 cm 8cm

Shaded area:

QRST is a square. QX=XR

T S
8cm
Q X R

Shaded area:

QRST is a square. AE=AF=4cm

A E B

D 8cm C

Shaded area:
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Answers

ABCD is a rectangle.

D E C
6cm
A 14 cm B

2
Shaded area: 42 cm

EFGH is a rectangle. GB = 4 cm

E 12cm F
5cm
G B H

2
Shaded area: 20 cm

ABC is a triangle.

C

5cm

A 5cm B

2
Shaded area: 125 cm

KLN is a right-angles friangle.

L
8cm
M
7 cm 8cm
N

K

2

Shaded area: 28 cm

QRST is a square. QX=XR

T S

8cm

Q X R

2
Shaded area: 16 cm

QRST is a square. AE=AF=4cm

A E B
F
D 8cm C
2
Shaded area: 24 cm




